ALGEBRA Quiz 3.4
1.
In the expression P – (n2 – 1)3, P and n are whole numbers and P > 0. Which statement describes 

the value of n2 – 1?

A.  It is a whole number.

B.  It is a positive integer.

C.  It is an integer less than or equal to –1.

D.  It is an integer greater than or equal to –1.

2.
Let c represent any non-zero rational number.  Select all values that when multiplied with c, will produce an irrational number.
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B.
π2
C.
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D.
8.73
E.
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3.
Look at the graph of f(x).  What is the average rate of change between [-1,3]?
4.
Margaret planted 20 seeds in her garden. Each year, she plants 10 additional seeds. Let f(1) = 20 represent the number of seeds she planted the first year.

Assume that all seeds Margaret planted in previous years continue to bloom. Which function, f, represents the total number of seeds that bloom in Margaret’s garden after x years? 

A. f(x) = 10f(x + 1)

B.  f(x + 1) = 10f(x)

C.  f(x) = f(x + 1) + 10

D. f(x + 1) = f(x) + 10

5.
The distance a speedboat has traveled is given by the function d(t) = 10t2, where d 

represents distance in meters and t represents time in seconds. What is the average rate of change in the distance the speedboat has traveled from 1 second to 10 seconds?
 

A. 90 m/s

B. 92 m/s

C. 110 m/s

D. 112 m/s

6.
What is the average rate of change of the function f(x) = 2x2 – 3x – 4 for -3 ≤ x ≤ -1?    (2 points)
7.
The graph of the function f(x) = x2 – 6x is shifted 2 units to the left onto the graph of g(x).

Select all functions that represent the shift of f(x) onto g(x).

A. g(x) = f(x – 2) 

B. g(x) = f(x + 2)

C. g(x) = f(x) + 2
D. g(x) = f(x) – 2

E. g(x) = 2f(x)

F. g(x) = ½f(x)
8.
A pool service treats a community’s pool by initially adding 600 ounces of chlorine to the water and then 225 ounces of chlorine at the beginning of each week. Each week, 30% of the chlorine in the entire pool evaporates.

Which rule would determine how much chlorine is in the pool after n weeks?

A. an = 600 + 225 (n – 1)

B.  an = 600 + 225 (0.7)(n – 1)

C.  a1 = 600; an = (0.3) an – 1 + 225

D. a1 = 600; an = (0.7) an – 1 + 225

9.
The intersections of the graphs of the given inequalities form a triangle.

(4 points)
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(a) Graph the triangle.  (b) What is the area of the triangle?
Describe in words, the transformations necessary to transform the graph of f(x) (solid line) into that of g(x) (dashed line).
10.







11.

12.







13.

14.
Write the equation of the dashed function.

15.
Identify the type of function pictured below:

16.
A plane left Chicago at 8:00 A.M. At 1: P.M., the plane landed in Los Angeles, which is 1500 miles away. What was the average speed of the plane for the trip?
17.
After 30 baseball games, A-Rod had 25 hits. If after 100 games he had 80 hits, what is his average hits per baseball game.
18.
Write the first 5 terms of the sequence a0 = 0, a1 = 1, an+1 = 3an-1 + an2.

19.
A fish farmer has 5000 catfish in his pond. The number of catfish increases by 8% per

month and the farmer sells 300 catfish per month. Write a recursive formula to represent the situation.  Find how many catfish will be in the pond after 4 months.

20.
Consider the function: 
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(a) Find f(-6) and f(4).

(b) Graph the function.
